Business Cycles FE436
Professor Cunningham

Question 1

Question 2 on page 482 of Williamson

Question 2

Question 4 on page 483 of Williamson

Question 3

Problem Set 2
Due 9/23/08

For this question, use the correlogram below for the United States to describe if each
variable moves procyclically or countercyclically and whether the comovement is

leading or lagging:

Consumption

Growth Money Growth
i lead lag lead lag
0 0.572 0.572 0| 0.0688 0.0688
1 0.2057 0.3465 1| -0.0581 0.1114
2 0.1212 0.2131 2| -0.0952 0.1288
3 -0.1395 0.0573 3| -0.1154 -0.0095
4 -0.0924 0.0668 4| -0.1128 0.0264
5 -0.1887 -0.0884 5| -0.0557 -0.0816
6 -0.0564 -0.0787 6 | -0.1636 -0.0446
7 -0.0556 -0.0245 7| 0.0026 -0.0785
8 -0.0057 -0.1161 8 | -0.0545 -0.0598
9 0.1514 0.0425 9| 0.0197 -0.0273
10 0.0331 0.0002 10 | -0.0036 -0.1057



